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IASbaba Daily Prelims Test- CSAT [Day 4] 

English and Hindi Medium 

 

1. In the next ten years, the number of doctors, nurses and health care workers will 

increase significantly worldwide. Even so, the average remuneration received by such 

professional will not decline but rather is likely to increase. This is due, at least partly, to 

the fact that the median age of the world’s population will increase steadily in this same 

period of time. 

The argument made above depends logically upon which of the following assumptions? 

1. The compensation of doctors and physical therapists who treat the elderly will 

increase more than that of other health care workers 

2. The increase in the number of health care workers will be responsible for the 

increase in the average life span. 

3. As a group, older people receive more attention from health care workers than do 

younger people. 

4. Geriatrics, a branch of medicine focusing on the health problems of older people, is 

the most expensive element of Indian health care. 

Solution: 3 

The only way their compensation would increase if the number of patients would increase. 

This is based on the assumption that out of the rising median age of world’s population, the 

old would require more health care. 

 

2. All the locks are keys. All the keys are bats. Some watches are bats. Which of the 

following conclusions can be drawn from the above statement? 

 

 1. Some bats are locks. 

 2. Some watches are keys. 

 3. All the keys are locks. 

 

1. Only 1 and 2 

2. Only 1 

3. Only 2 
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4. Only 1 and 3 

Solution: 2) 

 

 

Draw the Venn diagram as above. Since some watches are bats, it can mean that some 

watches can also be keys or locks, as shown in the diagram above and below.  

 

So as per the diagrams only 1 will follow, because other two statements can or cannot be 

true depending on how we draw the venn diagram. 

 

3. Some envelops are gums. Some gums are seals. Some seals are adhesives. 

Which of these conclusions follow from the statement above? 

 1. Some envelopes are seals. 

 2. Some gums are adhesives. 

 3. Some adhesives are seals. 
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 4. Some adhesives are gums. 

1. Only 3 

2. Only 1 

3. Only 2 

4. Only 4 

Solution: 1 

Draw Venn diagram. Now remember this – whenever you have this “some” coming up in 

any statement, try to draw as many venn diagram as there are possibilities (like drawn 

below). You would easily find the answer. 

 

 

 

Data Interpretation Passage  

The following pie-chart shows the percentage distribution of the expenditure incurred in 

publishing a book. Study the pie-chart and the answer the questions based on it. 

  

Various Expenditures (in percentage) Incurred in Publishing a Book 
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4. The price of the book is marked 20% above the C.P. If the marked price of the book is 

Rs. 180, then what is the cost of the paper used in a single copy of the book? 

1. Rs. 36  

2. Rs. 37.50 

3. Rs. 42      

4. Rs. 44.25 

 

Solution: 2 

 

Marked price of the book = 120% of C.P. Also, cost of paper = 25% of C.P Let the cost of 

paper for a single book be Rs. n. Then, 120: 25 = 180: n  

=> n = Rs.  (25 x 180)/120 = Rs. 37.50 

 

5. If 5500 copies are published and the transportation cost on them amounts to Rs. 82500, 

then what should be the selling price of the book so that the publisher can earn a profit of 

25%? 

1. Rs. 187.50             

2. Rs. 191.5 

3. Rs. 175.00           

4. Rs. 180.00 

 

Answer: 1 

 

If the publisher wants to earn a profit of 25%, then Selling Price (S.P.) should be 125% of C.P. 

 

Transportation Cost = 10% of C.P. 
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Let the S.P. of 5500 books be Rs. x. 

Then, 10 : 125 = 82500 : x     

x = Rs.(125 x 82500)/10   = Rs. 1031250. 

So, S.P. of one book = Rs. 1031250 /550  =Rs. 187.50 

 

Hindi 

1. अगऱे दस वषों में, डॉक्टरों, नसों और स्वास््य देखभाऱ श्रममकों की संख्या दनुनया भर में काफी 
वदृ्धि होगी। तो भी, इस तरह के पेशवेर स ेप्राप्त की औसत पाररश्रममक में धगरावट की नह ं बल्कक 
वदृ्धि की संभावना है । यह कम स ेकम आंमशक रूप स,े दनुनया की आबाद  की औसत उम्र समय 
की इसी अवधि में तेजी स ेवदृ्धि की वजह स ेहोगा। 

ननम्नमऱखखत मान्यताओ ंमें स ेल्जस पर ऊपर बना तकक  तार्कक क रूप स ेननभकर करता है? 

1. वदृ्धों का इराज कयन ेवारे डाक्टयों  औय बौततक चिककत्सको  का भुआवज़ा अन्म स्वास््म 
देखबार श्रमभकों की तुरना भें अचधक वदृ्चध होगी 

2. स्वास््म देखबार श्रमभकों की सॊख्मा भें वदृ्चध औसत जीवन कार भें वदृ्चध के मरए 
जजम्भेदाय होगा। 

3. एक सभूह के रूऩ भें, मुवा रोगों की तुरना भें फूढ़े रोगों ऩय  स्वास््म कामयकताय अचधक 
ध्मान देत ेहैं। 

4. जेरयमाट्रिक्स, दवा की एक शाखा जो फूढ़े रोगों के स्वास््म की सभस्माओॊ ऩय ध्मान कें ट्रित 
है, बायतीम स्वास््म देखबार की सफस ेभहॊगी तत्व है। 

Solution: 3 

उनके भुआवजे भें वदृ्चध होन ेका एक ही तयीका है मट्रद भयीजों की सॊख्मा भें वदृ्चध हुई । मह इस 
धायणा ऩय आधारयत है कक दतुनमा की आफादी की फढ़ती औसत उम्र भें स,े वदृ्धो को अचधक 
स्वास््म देखबार की आवश्मकता होती है। 
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2. ननम्नमऱखखत में स ेकौन सा ननष्कषक ऊपर ददए गए बयान स ेतैयार र्कया जा सकता है? 

 1.कुछ िभगादड़ तारे हैं। 

 2.कुछ घड़ी िाबफमाॉ हैं। 

 3.सबी िाबफमाॉ तारे हैं। 

 

1. केवर  1 औय 2 

2. केवर 1 

3. केवर 2 

4. केवर 1 औय 3 

Solution: 2 

 

ऊऩय ट्रदए गए अनुसाय वेन आयेख फनाइमे ।  क्मोंकक कुछ िभगादड़ घड़ी है , इसका भतरफ है कक 
कुछ घड़ड़माॉ िाबफमाॉ मा तारे हो सकता है, जैसा कक ऊऩय औय नीि ेचित्र भें ट्रदखामा गमा है।   
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तो चित्र के अनुसाय केवर 1, भाना जामेगा क्मोंकक अन्म दो वाक्म हभाये वेन आयेख फनान ेऩय 
तनबयय कयता है कक सही है की नहीॊ।  

 

 

 

3. कुछ मऱफाफे  मसूड़ ेहैं। कुछ मसूड़ ेमुहर  हैं। कुछ मुहर धिपकन ेवाऱे हैं। 

ऊपर ददए गए बयान म ेस े कौन सा ननष्कषक पाऱन  करता है ? 

 1.कुछ मरपापे सीर  हैं। 

 2.कुछ भसूड़ों चिऩकन ेवारे हैं। 

 3.कुछ चिऩकन ेवारे भुहय  हैं। 

 4. कुछ चिऩकन ेवारे भसूड़ े हैं। 

1. केवर  3 

2. केवर  1 

3. केवर  2 

4. केवर  4 

Solution: 1 
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वेन आयेख फनाइमे। अफ मह माद यखें - जफ बी आऩ इस "कुछ" को ककसी वाक्म ऩाएॊ , जजतनी 
सम्बावनामे हैं उतन ेवेन आयेख  फनान ेकी कोमशश कीजजमे (नीि ेफनामे गए के अनुसाय )। आऩ को 
आसानी स ेइस सवार का जवाफ मभर जाएगा। 

 

 

Data Interpretation Passage  

तनम्नमरखखत ऩाई-िाटय भें एक ऩुस्तक प्रकामशत कयन ेभें ककए गए व्मम का प्रततशत ववतयण ट्रदखा 
यहा है। ऩाई-िाटय का अध्ममन कयें औय  प्रश्नों ऩय आधारयत उत्तय दें। 

  

एक ऩुस्तक प्रकाशन भें खिय (प्रततशत भें) ववमबन्न व्मम 
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1.पुस्तक की कीमत को क्रय मूकय स े20% ऊपर धिल्ननत र्कया जाता है। यदद पुस्तक की धिल्ननत 
कीमत 180 रुपये है। , तो र्कताब की एक प्रनत में प्रयुक्त कागज की ऱागत क्या है? 

1. Rs 36 
2. Rs  37.5 
3. 42 
4. 44.25 

 

Solution: 2 

 

किताब िा बाजार मूल्य  =  क्रय मूल्य िा 120%  

औय ,कागज की कीभत  =  क्रम भूल्म का  25%  

भान रीजजए एक ककताफ के कागज की कीभत रूऩए   n. 

तो , 120: 25 = 180: n  

=> n = Rs.  (25 x 180)/120 = Rs. 37.50 

 

 

2. यदद 5500 प्रनतयां प्रकामशत की जाती है और उन पर ढुऱाई ऱागत रुपये 82,500 है । र्कताब 
की बबक्री मूकय क्या होना िादहए ल्जसस ेप्रकाशक 25% का मुनाफा कमा सके ? 

1. Rs 187.5 
2. 191.5 
3. 175 
4. 180 

 

Answer: 1 

 

यकि प्रिाशि  25% िा लाभ िमाना चाहता ह ै, तो विक्रय मूल्य  (S.P.)  क्रय मूल्य. िा 125% होना चावहए  

ढुराई भूल्म =   क्रम भूल्म का 10% 

भान रीजजमे  5500 ककताफो का ववक्रम भूल्म है रु x. 

तो , 10 : 125 = 82500 : x         

x = Rs.(125 x 82500)/10   = Rs. 1031250. 

तो , एक ककताफ की S.P.  = Rs. 1031250 /550  = Rs. 187.50 
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